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I] Fill in the blanks with correct option :- (2)

1. The calendar we use today is based on the
(Hijri era, Christian era, Shahenshahi era)

2. Chhatrapati Shivaji Maharaj had started a new era or shaka kanown as Rajyaabhishek shaka in
AD. (1574,1674,1673 )

I1] Match the following :- (2)
A B
1. Indianera Oral sources
2. 100 years 599 BC-527BC
3. Vardhaman Mahavir Vikram Samvat
4. Folk songs and tales a century
I11] Answer in one sentence :- (2)

1. What is Christian era ?
2. What is history?

IV ] Answer in short - (2)

1. Why is history considered to be a scientific Method ?
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